Hallands BF
DM-Lag Omg 1:2

IMP o6ver faltet, 6 bord, 12 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 2 1.75 Daniel Svensson - Jérgen Neldemo 18661 18660
2 303 1.48 Bertil Persson - Per Andersson 7366 17111
3 301 1.40 Torgild Olsson - Jan Nilsson 2730 11991
4 1 1.02 Nils Ahlén - Eva Gunnarsson 1169 12598
5 102 0.68 Jorgen Peterson - Christer Palmqvist 92572 92256
6 203 0.57 Ronny Hellberg - Torgny Carlsson 84485 10237
7 3 -0.57 Torleif Hagg - Jan Enarsson 12267 4272
8 302 -0.68 Lars-Anders Callenberg - Markus Bengtsson 1601 89654
9 201 -1.02 Jan Wistrom - Marie Ynner 4167 38957
10 101 -1.40 Per-Ingvar Skoglund - Vera Gemrud 2734 23764
11 103 -1.48 Jan-Olof Eriksson - Annette Antonsson 1600 34134
12 202 -1.75 Roger Wiklund - Lars Adie 10530 51619
13 454 Basta kontrakt 14 4 KD852 Basta kontrakt 15 « D854 Basta kontrakt
Nord vEKD2 4v N =620 Ost v762 5v S =450 Syd v D63 4v O =-420
Alla + E64 Ingen + Kn2 NS 4106432
#D1064 & ¢ v & NT #KD7 & ¢ v & NT »8 & ¢ v & NT
4« EKn107 #KD632 N 1010107 8 497643 #Knl0 N 116 119 8 @- «4EK10932 N 3 5 3 4 5
v 954 v Kn87 S 1010107 8 va v KKn9 S 116 119 8 vEKKn98 ¢105 S 35345
+ K72 ¢ Kn9 033354 +D9876 ¢ EK53 017140 ¢ K85 ¢E7 O 108 109 8
#852 #Kn73 V33354 #Knl0 #8532 V17040 #76543  #K92 V979938
» 98 oE 4 Kn76
v 1063 v ED10853 v 742
+D10853 + 104 + DKn9
#EK9 *E964 #EDKnN10
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
102 302 4v N= 4K 620 59.0 -59.0 2 202 4v S+2 #J 480 15.0 -15.0 1 201 44 O-2 +Q 100 31.0 -31.0
103 303 2NN= 42 120 13.0 -13.0|101 301 5v S+1 #J 480 15.0 -15.0 2 202 3NV-1 2 50 22.0 -22.0
1 201 3NN-1 &K -100 -18.0 18.0(102 302 4v S+2 #J 480 15.0 -15.0 3 203 3NV-1 3 50 22.0 -22.0
2 202 3NN-1 42 -100 -18.0 18.0 1 201 4v S= +6 420 40 -4.0|103 303 24 O= ¢Q -110 1.0 -1.0
3 203 3NN-1 &K -100 -18.0 18.0 3 203 4vS= ¢7 420 40 -40|101 301 3NO= #A -400 -38.0 38.0
101 301 3NN-1 43 -100 -180 18.0|103 303 4y S-1 +8 -50 -53.0 53.0|102 302 3NO= #Q -400 -38.0 38.0
16 s E62 Bésta kontrakt 17 4108 Bésta kontrakt 18 # KKn863 Bésta kontrakt
Vast v Kn542 44 N D -1-100 Nord v Kn1085 44 O =-420 Ost v7 6v O =-980
ov + Knl0 Ingen + ED7 NS + Kn974
*K973 & ¢ v & NT #ED83 & ¢ v & NT »D82 & ¢ v & NT
« D8 4KKn7543 N 9 5 5 4 7 & EKKNn752 4 D6 N35724 41097542 «E N29 1565
vKD87 v1096 S 95547 vED v K32 S35724 vKKn108 v ED942 S29155
¢D732 K86 047895 492 ¢ 10654 O 107 6 108 ¢E ¢+ D5 09 4 128 7
&#Kn108 «#E V46895 #Kn95 £K1074 V 107 6 108 #65 #KKn943 V 9 4 128 7
109 4943 aD
vE3 v 9764 v 653
¢+ E954 + KKn83 + K108632
#D6542 *62 «E107
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
2 202 44 O-1 vA 100 29.0 -29.0(103 303 3NO-1 3 50 35.0 -35.0 1 201 4v0-1 «Q 50 44.0 -44.0
101 301 3#S-1 4Q -50 8.0 -80 1 201 24 V+3 vJ -200 0.0 0.0 2 202 6v O-1 +¢8 50 44.0 -44.0
1 201 24 O+1 #2 -140 -80 8.0 3 203 24 V+3 vJ -200 0.0 0.0 3 203 4vO+1 «4Q -450 -21.0 210
3 203 24 O+1 vA -140 -80 8.0(101 301 1a V+4 vJ -200 00 0.0|101 301 4v O+1 «Q -450 -21.0 21.0
102 302 3« O= vA -140 -8.0 8.0(102 302 24 V+3 vJ -200 00 00103 303 4v O+1 6 -450 -21.0 21.0
103 303 24 O+2 vA -170 -13.0 13.0 2 202 44 V+1 vJ -450 -35.0 35.0|102 302 4v O+2 4Q -480 -25.0 25.0
19 + 10964 Bésta kontrakt 20 & K109874 Bésta kontrakt 21 & K52 Bésta kontrakt
Syd vD2 34V =-110 Vast v Kn87 2NTV =-120 Nord v EK82 44 O D -3500
oV + D8743 Alla +8 NS ¢ E742
*94 & ¢ v & NT #KKn6 & ¢ v & NT «D2 & ¢ v & NT
a7 4« DKn532 N356514 4632 4 E5 N435765 4Knl09764 48 N 4 9 106 7
v EK86 v 105 S35654 vE5 vKD103 S43575 vKn7 v 1064 S 4 9 106 7
+ Kn6 ¢ EK102 097787 ¢ Kn643 ¢ ED52 09 986 8 ¢ KKn 4985 0833765
#E87653 #Kn2 V97787 #8432 #E107 V9986 8 *Kn94 #EK10853 V 8 3 3 7 5
» EK8 & DKn « ED3
v Kn9743 v 9642 v D953
+95 + K1097 + D1063
#KD10 #D95 »76
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
1 201 3NV-3 vQ 300 24.0 -24.0 2 202 3NO-1 «Q 100 17.0 -17.0|101 301 44DV-4 vA 800 25.0 -25.0
2 202 3NV-3 vQ 300 240 -24.0(101 301 3NV-1 &7 100 17.0 -17.0 1 201 4v N= &A 620 -5.0 5.0
102 302 3NV-3 vQ 300 240 -24.0(103 303 3NO-1 ¥2 100 17.0 -17.0 2 202 4y N= 48 620 -5.0 5.0
3 203 3NV-1 vQ 100 -40 4.0 3 203 24 N-1 vA -100 -13.0 130 3 203 4y N= «K 620 -5.0 5.0
101 301 3«V= vQ -110 -31.0 31.0 1 201 2NO= 4Q -120 -19.0 19.0(102 302 4v S= 4J 620 -5.0 5.0
103 303 24 O+1 ¢9 -140 -37.0 37.0|102 302 2NO= ¥4 -120 -19.0 19.0|103 303 4y N= &A 620 -5.0 5.0
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22 442 Basta kontrakt 23 4 EKn103 Basta kontrakt 24 4 E875 Basta kontrakt

Ost vKn 5NT O =-660 Syd v42 2v V =-110 Vast v EKn43 2NT N =120
ov + D832 Alla + K52 Ingen + D10
#DKn7653 & ¢ v & NT #E952 & ¢ v & NT #EK9 & ¢ v & NT
87 « EK63 N6 8 25 2 a72 « K9864 N7 8567 4 Kn9642 4K3 N59 87 8
vD1087532 vEKA4 S6 8252 v Kn109873 vE6 S78567 vD v 107652 S59878
¢+ E4 ¢ 95 07 5 117 11 ¢+ E6 ¢ DKn10 06 58765 +E76 + K3 07 356 3
*E10 #9842 vV 75 117 11 *K107 #Kn86 V65876 #DKn73 410654 V73563
« DKn1095 4 D5 « D10
v 96 v KD5 v K98
+ KKn1076 498743 4 Kn98542
&K D43 #82
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
1 201 4vV+1 &4 -650 0.0 0.0 1 201 3¢ N= +Q 110 26.0 -26.0 2 202 3NN+2 v6 460 20.0 -20.0
2 202 4vV+1l &4  -650 0.0 00102 302 INN= 46 90 21.0 -21.0 3 203 3NS+1 44 430 17.0 -17.0
3 203 4y V+1 &4  -650 00 0.0 2 202 29 O= ¢33 -110 -8.0 8.0(102 302 3NS+1 44 430 17.0 -17.0
101 301 4y O+1 «Q -650 0.0 0.0 3 203 2¢v0= «Q -110 -8.0 8.0 1 201 2NN+3 v2 210 -18.0 18.0
102 302 4y V+1 &5 -650 0.0 00[103 303 2v O= +¢9 -110 -8.0 8.0|101 301 INN+4 v6 210 -18.0 18.0
103 303 4v V+1 &4  -650 0.0 00]101 301 24 N-2 ¢Q -200 -23.0 23.0/103 303 INN+4 v2 210 -18.0 18.0
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